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farE 2-1
ROBR f(z) R g(r) THo 2R &R &, BFiERDRLTIW,

(1) f(z) =a®+ 32> =5z — 3, g(x) =2 — 2
(2) flz)=a%+32* =22 + 4o+ 1, g(z) =z + 1

(3) f(z) =323 +42% — 4w +2, g(x) =3z —1

TaRE 2-2
BAf()=2"+322 - 20+ 128X g(x)=(z —1)(z+2) THI>7=RD &K
&, BEKRDZE TR,



B 2-3
(UABz&BCzBﬂ%Bz%@E@%AHT@CM@E%%*@&
(2) AB=4, CA =3, ZBAC = 120° D =¥ ABC T, BCDEIX %2k X,
(3) AB=6, A=45°, C =60° D=/ ABC T, BCOEX %KD &,
(4) AB=6, A=120°, B=15° D= ABC T, BCOEX %Zk®d &,

B 2-4

RD 2 RAER % figg 17
(1) (z+3)(x—5) <0
(2) =2 +324+4<0

)
)
(3) 22 =22 —-1=20
) @
)

(5) 22— 3z +4>0
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